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FINAL EXAMINATION-2021
	Course code: SFB13114

ECTS credits: 10
	Course: Global Markets and Institutions

	Date: 01/12/2021, 09.00 hours

	Duration: 4 Hours (written examination)

	Allowed aids: Pen, pencils, ruler, simple calculator
	Academic responsible: Imtiaz Badshah

	Grading: A-F
	Attachments: formula sheet

	The Examination:
The examination paper consists of 3 pages (including this page) and a Formula sheet (three pages hand written). Please check that the examination papers are complete before you start answering the questions. 
The school exam entails 5 (five) problems. Each problem comprised of several parts. All problems (and its all parts) should be answered/solved. 
Please provide answer for each Part on a NEW page clearly mentioning Problem and Part Number. 
Read the text relating to each problem carefully. If something is unclear, you have to make realistic assumptions about how you understand the problem and how you decide to solve the problem. Any such assumptions must be clearly outlined. 

	Grading Deadline: /12/2021

LYKKE TIL/ BEST OF LUCK!







Problem 1 (20 %) 
Part A: A lottery claims its grand prize is $20 million, payable over 40 years at $1,000,000 per year. If the first payment is made immediately, what is the grand prize worth? Use an interest rate of 12%.
Answer: Solution:	This is a simple present value problem. Using a financial calculator,
N = 40; PMT = 1,000,000; FV = 0; I = 12%; Pmts in BEGIN mode.
Compute PV: PV = $9,233,029.88
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Part B: What is the concept of present value? What is discounting?
Answer: The concept of present value is based on the commonsense notion that a dollar of cash flow paid to you one year from now is less valuable to you than a dollar paid to you today.  This is so because you can deposit a dollar in a savings account that earns interest and have more than a dollar in one year. The process of calculating today’s value of money received in the future is called discounting the future.

Part C: Sally owns a $1,000-par zero-coupon bond that has six years of remaining maturity. She plans on selling the bond in one year and believes that the required yield next year will have the following probability distribution:
	Probability
	Required Yield

	0.1
	6.70%

	0.2
	6.85%

	0.3
	7.10%

	0.2
	7.30%

	0.1
	7.55%

	0.1
	7.75%



a.	What is the expected price of the bond at the time of sale?
b.	What is the standard deviation of the bond price?
Solution:	Using a financial calculator:
N = 5; PMT = 0; FV = –1,000
I = Required Yield
	Probability
	Required Yield
	Price
	Prob  Price
	(Price – Exp. Price)2
	(Price – Exp. Price)2
	Prb  (Price – Exp. Price)2

	0.1
	6.70
	$723.07
	72.31
	15.30
	234.05
	23.41

	0.2
	6.85
	$718.00
	143.60
	10.24
	104.81
	20.96

	0.3
	7.10
	$709.66
	212.90
	1.90
	3.60
	1.08

	0.2
	7.30
	$703.07
	140.61
	–4.69
	22.02
	4.40

	0.1
	7.55
	$694.94
	69.49
	–12.83
	164.51
	16.45

	0.1
	7.75
	$688.52
	68.85
	–19.25
	370.64
	37.06

	
	
	
	707.77
	
	
	103.36


Compute PV:
Expected Price is 707.77
The variance is 103.36, or a standard deviation is 10.17.


Problem 2 (20 %) 
Part A: Just before the collapse of the subprime mortgage market in 2007, the most important credit-rating agencies rated mortgage-backed securities with Aaa and AAA ratings. Explain how it was possible that a few months into 2008, the same securities had the lowest possible ratings. Should we always trust credit-rating agencies? 
Answer 5. 	Historically, mortgage backed securities were considered low risk assets, since homeowners had the highest incentives to pay their mortgages (otherwise they might lose their home). However, after standards on lending practices decreased during the first years of the new century, many individuals were able to buy a house, but not to make their mortgage payments. This resulted in poor quality mortgage backed securities that should never have had such good ratings. Both Standard and Poor´s and Moody´s were investigated for assigning such good ratings and therefore misleading investors in buying these instruments. Sometimes credit rating agencies also make mistakes in assigning risks. 

Part B: Little Monsters Inc. borrowed $1,000,000 for two years from NorthernBank Inc. at an 11.5% interest rate. The current risk-free rate is 2% and Little Monsters’s financial condition warrants a default risk premium of 3% and a liquidity risk premium of 2%. The maturity risk premium for two-year loan is 1% and inflation is expected to be 3% next year. What does this information imply about the rate of inflation in the second year?
Solution in Chapter 5
[image: ]
Part C: How can economies of scale help explain the existence of financial intermediaries? 

Answer 1.	Financial intermediaries can take advantage of economies of scale and thus lower transaction costs. For example, mutual funds take advantage of lower commissions because the scale of their purchases is higher than for an individual, while banks’ large scale allows them to keep legal and computing costs per transaction low. Economies of scale which help financial intermediaries lower transaction costs explains why financial intermediaries exist and are so important to the economy.

Problem 3 (20 %) 
Part A: How does the concept of asymmetric information help to define a financial crisis.
Answer:- 	1.	Asymmetric information problems (adverse selection and moral hazard) are always present in financial transactions but normally do not prevent the financial system from efficiently channeling funds from lender-savers to borrowers. During a financial crisis, however, asymmetric information problems intensify to such a degree that the resulting financial frictions lead to flows of funds being halted or severely disrupted, with harmful consequences for economic activity.

Part B: The Federal Reserve wants to increase the supply of reserves, so it purchases $1 million dollars worth of bonds from the public. Show the effect of this open market operation using T-accounts.

Solution
[image: ]

Part C: Should central banks be privately or publically owned? Explain. 

Answer:- 1.	These are two different views of the ownership of central banks. When banks are publicly owned, they concentrate on public interest, and central banks have to ensure transparency and accountability. Privately-owned central banks are viewed as independent from the government, but could serve specific interests. In both types, best governance practices are essential.

Problem 4 (20 %) 
Part A: The price of $8,000 face value commercial paper is $7,930. If the annualized discount rate is 4%, when will the paper mature? If the annualized investment rate % is 4%, when will the paper mature?
[image: ]


Part B: Distinguish between the primary market and the secondary market for securities.
Answer 3.	The primary market is for securities being issued for the very first time, and the issuer receives the funds paid for the security. The secondary market is for securities that have been issued previously but are being traded among investors.

Part C: Your company owns the following bonds:
	Bond
	Market Value
	Duration

	A
	$13 million
	2

	B
	$18 million
	4

	C
	$20 million
	3


	If general interest rates rise from 8% to 8.5%, what is the approximate change in the value of the portfolio?
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Problem 5 (20 %) 
Part A: LaserAce is selling at $22.00 per share. The most recent annual dividend paid was $0.80. Using the Gordon Growth model, if the market requires a return of 11%, what is the expected dividend growth rate for LaserAcer?
[image: ]
Part B: Most mortgage loans once had balloon payments; now most current mortgage loans fully amortize. What is the difference between a balloon loan and an amortizing loan?
Answer 2.	Balloon loans require that a large final payment be made to pay off the remaining principal balance. Amortizing loans are structured so that equal monthly payments are made such that the total of all payments cover both interest and principal over the lifetime of the loan.
Part C:- An investor in Canada purchased 100 shares of IBM on January 1st at $93.00/share. IBM paid an annual dividend of $0.72 on December 31st. The stock was sold that day as well for $100.25. The exchange rate is $0.68/Canadian dollar on January 1st and $0.71/Canadian dollar on December 31st. What is the investor’s total return in Canadian dollars?
Solution:	The price of each share is $93.00/$0.68  136.76 Canadian dollars.
The dividend is $0.72/$0.71  1.014 Canadian dollars
The sale price is $100.25/$0.71  141.20 Canadian dollars
The return  (141.20  1.014  136.76)/136.76  0.03988
[image: ]
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